=y ==

NIy +BES k=N EREBS
20376-395 BREHIA v/ 9D 0564-59-3525

39501493 1,680/ 39503233 1,480m 39505233 1,480m 39507093 1,500/ 39509023 1,260 39511013 1,210m

= (22x7.3%2.60m) BR= Mk (223x7.5x2.7om) BIERZ M 223753270 FHMA=Q6E (21.5%8.9x3m) LLBESZ ML) 2156250 FREE= S (21 5%8X2 5en)

39502493 1,100m 39504233 1,000R 39506233 1,000/ 39508093 1,000 39510023 9OO0m 39512013 990R
S & (15%7.6%2.60m) WHE T 8k (15x7.7x2.7m)  SRERZSEF (15x7.7x27cn) FHRHF-SEE (15%8.8x3cm)  AUBEA=HIM(K) (15<8x25m) FREE— S (15%8%2.5cm)

54

39513.0131,210m 39515113 1,160m 39517673 1,150m 39519013 1,210/  39521.0131,1208 39523033 1,080/
RE=fI (215x8x25m) 7/7+E=GI (19x8x3en) LFLEZRM (192x84x270) EESRZSI (21.5x8x2.50m) Il () = SeE (193x0.3x23m) FITL =R (17.4%6.4%2.301)

30514013 OO0m 39516113 850m 39518673 G600m 39520013 9O0m 39522013 830m 39524033 830[
BE_SM (15x8x25m)  J/7+E R (13x8.5x3m) WALEZ SN (131x85%280) (G (15x8x2.5m) HIL(E) " @6 (13.2403x23m) FI1o=SEE (11.4%6.4%23m)

39525233 1,290/ 39527113 1,180@ 39529013 1,170/  39531-0131,170m 39533073 1,140m 39535063 1,100m
FREB=RI(K) 0202220 =M (17.6x65x2m) FHH=A (21.6%7.8x26c) EEH=RI (21 6x7.8x26m) TH=FIM (17.6%6.7x2.2cn) =% /\ (17.7%6.8%2 2cn)

39526233 970m 39528113 830Mm 30530013 940m 39532013 940m 39534073 O30m 39536063 90O0R
FRESZRIK) (63x02x22a) B#I "SI (115x62x2m)  HB I (14.8x7.8%26cn) EEEN R (148x7.8x260m TH -G (11.7%6.5%2.2c0) BI—G s\ (11.8x6.6%2 20n)

CEL

39537023 1,290/ 39539013 1,170m 39541683 1,190m  395-43.063 1,0508 39545673 1,050/ 39547073 850/
BF RA=OMHIN(K) 215x0250) EME=SAI (21.6%7.8x26em) HEFF=RM (19x83x27m) BE=G () (17.7x68x22m) HEFE=SE (19x8.2x27m) ZIFEF= S (20.5%0%2.40m)

395:38-023 1,040M 39540013 940m 39542683 740Mm 39544063 860Mm 39546673 540m 39548073 620
R RATOHM(K) (5xexesm) EIE_GI (14.8x7.8x2.60m) WAF QM (157x7x2m) BEH (N (11.8x66x22m) HHEE S8 (10x82x27m) FEEF -G (14x7.8%2.40n)

395-49-473 850m 39551-473 850/ 395.53-113 890m 395-55-033 920mM 39557033 830mM 395-59-073 660

EFINEE=RI (23:04x230) ou ERE=RM (28x94x2.3m) ¢ FHFIARHH=BI @0x67x250) HFHFE= QM (182x72x3m) TASAL=RE (18%5.3x1 5m) WEHEA=RI (16.7%6x1 80

39550473 560m 39552473 560m 395-54-113 650m 395-56-033 7 50M 395.58-033 680M 395.60-073 57 0mM
REMER=RM (15304x230) o0 AWEE-SM (1530 4x23m) sn FHTARMY R (1973826050 HH+E— Sk (13x7.2x3m) TAF1 =G (119x5.4x1.500) WFHEA=RM (12.9%6x1 8enl




